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BEKET1T 866 1,900 917 983 |Rix&FILUBT4A4T 738 1,926 925 1,001
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tfEBET4T 876 2,013 993 1,020 |FARERT4AT 76 114 44 70
g 3,011 6,623 3,222 3401 |EARERST 136 308 142 166
B AITET 3 3 2 1 it 737 1,368 575 793
ERATET1T 611 1,594 800 794 |FEaTEEET 2,107 4,992 2,452 2,540
ERATET2T 311 756 365 391 [EAHT 245 463 244 219
ERATETST 318 774 372 402 |BEEERMET1T 253 485 232 253
g 1,243 3,127 1,539 1,588 (B EERMAET2T 450 944 472 472
==Yl 990 2,213 1,055 1,158 (B E B FRMAETST 671 1,496 718 778
HEWRET 236 497 231 266 |EE BSRMETAT 625 1,331 668 663
HEREI2T 412 737 329 408 |BEE ERMETST 689 1,686 806 880
HEWEIIT 260 495 244 251 B 2,688 5,942 2,896 3,046
HEWRE4AT 138 295 138 157 |BEE EHBItAT1T 219 389 185 204
B 1,046 2,024 942 1,082 |BEE EBH#EILET2T 393 846 416 430
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hRERST 235 513 241 272 [\ T4t 92 203 96 107
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